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QUESTION 1

A customer wants to store several terabytes of audio, video, and image files in IBM Cloud. These are old files and they
are being archived. What kind of storage has options designed for this use-case?

A. Endurance Block Storage

B. Content Delivery Network Storage
C. Cloud Object Storage

D. NFS-Based File Storage

Correct Answer: C

QUESTION 2

What two files types can be used to import a data dictionary in IBM Cloud Private for Data?
A. YAML

B.CSV

C. JSON

D. DOC

E. XML

Correct Answer: BE

QUESTION 3

What are two things to consider when choosing where to deploy Microservices?

A. Microservices core functions content catalog must reside in all data centers where Microservices run
B. The region where any personal data resides

C. Microservice workloads should be co-located where their data resides to reduce latency between the microservice
and data persistence store

D. Microservices on the same host must be part of one deployment

E. Microservice workloads, when possible, should be co-located where backups reside to reduce latency and ensure
resiliency

Correct Answer: AC
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QUESTION 4

What term describes applications specifically designed to run in cloud environments?
A. Cloud-Native

B. Legacy

C. Event-Driven

D. Serverless

Correct Answer: C

QUESTION 5

What is one of the benefits of the IBM Garage Method?
A. Architects are hands-on coders

B. Smaller more focused teams

C. No constraints to a programming language

D. Faster time to market

Correct Answer: A

QUESTION 6

What is an advantage of using Bare Metal Server over a public virtual server?
A. Low power consumption

B. No network bottleneck

C. Maximum flexibility and performance

D. Low thermal output

Correct Answer: C

QUESTION 7

Which statement describes Platform as a Service?

A. PaaS enables users to consume software applications on a per-user subscription basis
B. PaaS provides users with the tools to develop and deploy applications

C. PaaS provides users with a catalog from which they can provision applications
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D. PaaS enables users to manage operating system patching schedules for bare metal servers

Correct Answer: B

QUESTION 8

What is one of the benefits of IBM Continuous Delivery?

A. It helps automate the deployment process to improve time to market

B. It helps eliminate application-performance blind spots with continuous feedback
C. It helps reduce costs to the client

D. It helps reduce the risk of deploying poor-quality software into production

Correct Answer: A

QUESTION 9

What are two benefits provided by IBM Cloud Managed Services on z Systems?
A. Reduce total cost of computing

B. Choice of x86, RISC, and z hardware

C. Easily scale applications

D. Increased CapEx and reduced OpEx model

E. Automatic multi-zone replication

Correct Answer: AD

QUESTION 10

Which statement describes IBM Cloud Private?

A. An application platform for developing and managing containerized applications

B. A dedicated on-premises instance of Cloud Foundry

C. A Cloud Foundry based environment designed to orchestrate microservices across cloud service providers
D. A multi-tenant platform built on Kubernetes designed to host cloud native applications

Correct Answer: C

QUESTION 11
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Which are two limitations of the CouchBackup tool?

A. The database cannot be accessed while the tool is running

B. Index definitions are backed up by the tool but the content of indexes is not
C. it does not offer a way to restore backups

D. It\\'s not possible to embed tool commands into UNIX shell scripts

E. Attachments are not backed up by the tool

Correct Answer: BE
https://cloud.ibm.com/docs/services/Cloudant?topic=cloudant-ibm-cloudant-backup-and-recovery
The CouchBackup tools have the following limitations:

security settings are not backed up by the tools.

Attachments are not backed up by the tools.

Backups are not precisely accurate "point-in-time" snapshots.

The reason is that the documents in the database are retrieved in batches, but other applications might be

updating documents at the same time. Therefore, the data in the database can change between the times

when the first and last batches are read. Index definitions that are held in design documents are backed

up, but the content of indexes is not backed up.
This limitation means that when data is restored, the indexes must be rebuilt.

The rebuilding might take a considerable amount of time, depending on how much data is restored.

QUESTION 12

How does IBM Cloud provide physical network security?
A. Uses IBM UrbanCode Plug-in

B. Relies on network-within-a-network topology

C. Uses security vulnerability scans

D. Relies solely on client to handle

Correct Answer: B

QUESTION 13

Watson Knowledge Catalog fully integrates with which IBM tool?
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A. Watson Studio

B. Watson Discovery

C. Watson Tone Analyzer
D. Watson Assistant

Correct Answer: C

QUESTION 14

To create custom Artificial Intelligence models, which IBM Cloud service is leveraged?
A. ML Studio

B. Knowledge Studio

C. Watson Studio

D. Knowledge Catalog

Correct Answer: B

QUESTION 15

Which aspect of Blockchain allows members to administer and manage the membership, credentials, and network
model?

A. Processing Rule Policies
B. High Availability

C. Modularity

D. Governance Tooling

Correct Answer: D
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